VER:3.0-2025-06

RINRFIARERAL
Teco N Series Standard Motor
IEC-60034-30-12014/1E3
GB18613-2020/GB3

FRINFR TSR B
Teco N Series High Efficiency Motor
IEC-60034-30-12014/IE4
GB18613-2020/GB2

FRINRFIBSBREN

Teco N Series Super High Efficiency Motor
IEC-60034-30-12014/IE5
GB18613-2020/GB1



TECO

FAHIC

©®  1956FRTEINBRHBRABDKZITEE=ED,

©  1965F HE RENGEE—EAMUEBNE LI .

®  1966FETERT] MIZEAEFRAL).

©  1973FROKITIERA, EFECSHL. BN, BIKESEREE M,
©  1979FHH— B TS A LT MHIRE LB,

©  1983F . ME BRLEFBI. BRBF-RREBHREREE.

FTEREN ©  1987HRIET RIS TR A R B AT,
FTRMATFATIOS6E, MMAFDALT, ESFTEACEAESD. SENBTE. T8, & ©  199IFMERSTE T, SASHEMUETRE .
BR. BTERTACSSEANERTY, FURERELHEANDFRE, FOEBERHROE S ——
U, BB, RERGERASRSENNNESRRER, U [RALKESK, SELSHE ﬁ ~
EROBORRENE] HER, BT, BRRORE. ©  TOMEIMEEEI R e
® 19953 EEERWESTINGHOUSERAL.
LisFErxEsBIBRAREN ©  2002EFEETENE .
FRRMEIESREEHANT, EREIREREMETTI , hGSEEREFVRSFER ©  2003FETBHETERISE

5, F5F201268BE LB LiBRTRRBINERAR. (FARTERAETEAMNERHENS,

® 2004FEFTHETE—TEI .
EBFETEFAFEKEACRMEREEN-REE. BR-REAAESE. ERERNARERRER. T R

BRERKE. FRiEf: SRESHEN. SEETME. FAREHE. BRETEY. JRiEme. S © 20045 TFERTTRBIE .
RN, RERREETE, ABRFMEN. =iHHE. XBENTHERSRA, WBNFREET ©  2012FRT LS E AR IRA S R B E B E RS,
RERULEGEBPIRS, FROURTHR. RRERSRBEREANR, MEFNRSEM. ERE
7. RS R TR S . ®  2016FELBRTHEBIME .
®  2017FHHEXEA [BEEEFANESHO] .

SR ESEERAS ©  2018FRITiMmE DA ML MEH AR TEAEREINEER,

ik iR TR R RE29ISHRIIFHO2S#507= ©  2019F AERGRTTIEE T EHEEBRETIERE.
E3i#:021-52588255

M3t www.tecochina.net

©® 20205 \3EDJSHERUKSHEH-FRTIAMMD R .
©®  2021FEBIRBE= ISR EARMENB IR,
T R © 20225 RRSEERERBNERLHREAEMITE.,

All date presented is for reference only and subject to change without notice |
p y ) 9 © 2023FWHAEREERAT.



TECO

FRIME

FREEBARINE
BRl 2 Rz = EIRIRRIAIE
MR EBAZRINE

X

=E4

Contents

FRNRFIZHHFC R

Teco N Series Three Phase Induction Motors
FAREHETechnical data

I£7=Noise levels

$#iR{EENameplate

;B FBearing temperature rise

FER#mSProduct Code

% Package

$5MfFKDatasheet

Teco N Series Three Phase Induction Motors
tREE#Standard Motor 380V 50HZ

Model:TEV3

ExEEBHigh Efficiency Motor 380V/50HZ
Model:TEV4

TBEBERBHSuper High Efficiency Motor 380V/50HZ
Model:TEV5

SMEZEOutline
IMB3(TEV3)
IMB5(TEV3)
IMB35(TEV3)
IMV1(TEV3)
IMB3(TEV4)
IMB5(TEV4)
IMB35(TEV4)
IMV1(TEV4)
IMB3(TEV5)
IMB5(TEV5)
IMB35(TEV5)
IMV1(TEV5)

12-13

14

15-18

19-22

23-25

26-36
37-43
44-54
55-64
65-73
74-80
81-90
91-100
101-109
110-115
116-125

126-135



TECO

BRI BERENET10%LUP, SAERREHTFS%LIR, BER
ARGERANEI0%LAR, ERABIL+5%

fEFIBAT ZW. TRERSERE
SRR -15-40°C
IR AR EI0%LA FUBRAERLE)
BN BIR1000mLAT
fEA: RERE, [BR2P 45kWRLLL 4, 6&8P F#280
R LRk hER,
BERETTIE): ATENESE, LIRS S AR IR S F B
B, BRI E IR £ 7 M Ess .
BahH: SEERRHRY- 25
4% GB3(IE3)IEE Munsell 5PB 3/8
GB2(IE4)%MENO.700 Munsell N5
GB1(IES)DikKMunsell7.58 3.5/0.5
FEHHAN, FIELSMIE

S
HHERE, WERRRENSTEE.

Power source conditions: Voltage:+10% Frequency:5%,
and 10% Max.of Combined Voltage and Frequency . But Frequency
Variation Does Not Exceed +5%.
Place: In door,Non-hazardous
Ambient temperature: -15-40c
Relative humidity: Less than 90%RH(Non-condensation)
Altitude: Less than 1,000 meters
Drive method:Belt Service,However 2 Pole 45 kW and Up,
4. 6&8Pole F# 280 and Above Coupling Service s the Way.
Direction of rotation: CW According to IEC Definition, Suitable
For Bi-Directional Operation.
Method of starting: Full voltage direct on line or Y-Astarting
paninting: GB3(IE3) Purple-Munsell 5PB 3/8

GB2(IE4) Light-Gray-NO.700 Munsell N5

GB1(IES) Motor-Gray Munsell 7.58 3.5/0.5
Requirement: Basicallythe coupling and belt should be heate
pushed onto the shaft extention with slight axial fora,Do not
hammer to prevent bearing damage:if need special requirem
further disscussion will be demanded
Drive method: Belt direct coupling.gear and so on






ﬁi?igfﬁotors data T E C o

S0 2-8P 38007 50 35 01 2800 91 80 108
100 28P 3807 50 40 01 2800 142 80 100
1n2 28pP 380V S0 45 01 2800 229 80 825
132 28p asov 50 025 1400 337 35 2
160 28P 380V 50 025 1400 609 a0 105
180 28P 380V 50 75 025 1400 BB 55 "9
200 28P 380V 50 100 03 1400 1678 65 "o
225 2-8P 380V 50 120 035 1400 1786 70 75
250 28P asov 50 230 o7 1400 1813 80 167.5
280 28pP asov 50 250 075 1400 2415 85 1045
315 289 asov 50 450 13 1300 6200 1800 [ ee
355 28P 360V 50 650 18 1390 8500 160, | 1

BEBEHNMSE, FRBNBRHNTR, SHRBRERW



EA— TECO

0.55 £ 63/53 63/53
0.75 | 78/68 63/53 54,/54
1.1 78/68 63/53 64/54
1.5 | 78/68 64/54 70,60
2:2 78/68 70/60 71/61
3] B2/72 73/63 71781
4 83/73 73/63 72/61
55 | 85/75 73/63 72/61
BEARA R B .
= = — - FrRAInFGER S SH 7.5 85/75 73/62 72/61
BERT NERHEE e o SR Outline(mm) MR Outline(mm) | B7/76 73/62 76/65
W gy (mm) Gy gz, CVSATEVA TEVS 15 87/76 7i/66 79/68
Number of Contact ~ Outercable 15— ey BEEAInAH LS f
terminals  Screw  Diameter | Cobleentry B o 85 | B7/76 80/69 79/68
Thread  (sealing range) size 22 B8/TT 80/69 79/68
30 | 90/79 80/69 80/68
” 6 W 6-12 ®21 1 | 60 | 110 | 110 | 85| 166 [ 160 | 16.220, 208 37 90/79 84 82/70 82/70
= s | 92/81 85/73 82/70
16.220, 30 92/80 85/73 86/83
112 6 M5 12-18 ®26 1| es.5| 127 | 120 | 815 | 166 | 160 29,84 28,82
132 25/83
14220, 40W e
160 89/82
6 ¥6 18-25 ®35 1| 815 166 | 160 | 89.5 | 215 | 199
50 89/82
= 14.220, 500 94/86 92/84
6 8 31-41 52 1| 89.5| 215 | 199 | 1155 249 | 224 94/86 92/84
25 100/92 94/86 92/84
250 16.220, 60W 100/92 94/86
6 M10 35-45 65 1 | 15.5| 249 | 224 | 1155 249 | 224
280
315 6 2 37-42 o65:65 | 2 | 152 | 318 | 288 | 152 | 318 | 288 | 14.220, 1508 tf . D’ES“'I’?'E‘“‘“
wsound power leve
) } , s i} o R 1M 1M away from the motor
355 6 M16 4552 75475 2 188 | 408 | 372 | 188 | 408 | 372 1¢.220, 2008 TESUHZERRE T, EERH=3dB Standard rated output at 50Hz,and the tolerance is +3dB




FRAETEV3&TEVA F#250(&)FraEm
TEV5 F#160(2)FsaiEil

R



GB3/IE3-Model : TEV3 TypeAEEV3N/AEUV3N
GB2/IE4-Model : TEV4 TypeAEEVAN/AEUVAN
GB1/IE5-Model : TEV5 TypeAEEV5SN/AEUVSN



TECO



TECO



TECO



TECO



1513 Data Sheet T E co

BB (Super High Efficiency Motor) 380V 50HZ
Model: TEV5 GB18613-2020 GB1( IE5)

QUE : NOISE aeerox
FULL PULL BREAK

( kg-m®
2905 863 | 863 .0 | 640 . 0.009

1.1 1.5 | 2900 | 80M | 87.8 | 87.2 | 855 | 84.0 | 77.5 | 655 | 2.27 | 930 [ 0.370| 300 250 | 330 |0.010 69 29.5
15 | 2 | 2890 905 | 889 | 88.9 | 88.1 | 86.0 | 81.0 | 70.5 | 2.98 | 950 | 0.506 | 300 | 250 | 330 [0.014| 69 | 36.0
22 | 3 |2895| 9oL | 90.2 | 90.9 | 90.8 | 865 | 820 | 725 | 4.28 | 950 [ 0.741| 300 | 250 | 330 |0.022| 69 | 435

3 4 | 2905 | 100L | 91.1 | 91.5 | 90.9 | 865 | 82.0 | 72.5 | 578 | 960 | 1.006| 300 | 250 | 330 [0.036| 72 | 56.0
4 5.5 | 2910 [112M | 91.8 | 92.6 | 929 | 87.0 | 83.5 | 765 | 7.61 | 970 | 1.340| 300 250 | 330 |0.076 73 80.0
55 | 75 2935|1325 | 92.6 | 92.9 | 920 | 87.0 | 83.5 | 745 | 104 | 990 [ 1.826| 275 215 | 330 |0.079 75 95.0
7.5 10 | 2945 | 1325 | 933 | 93.8 | 93.7 | 88.0 | 845 | 765 | 139 | 960 | 2.482| 260 210 | 330 |0.121 75 108
11 15 | 2955 [ 160M | 94.0 | 94.3 | 940 | 90.0 | 87.0 | 79.5 | 19.8 | 930 | 3.628| 250 200 | 300 |0.283 77 172
15 20 | 2960 [ 160M | 94.5 | 94.8 | 94.8 | 90.0 | 87.0 | 81.0 | 26.8 | 950 | 4.938| 280 225 | 310 |0340| 77 187
185 | 25 | 2955 | 160L | 94.9 | 95.1 | 94.9 [ 90.0 | 87.0 | 785 | 329 | 970 | 6.101| 290 | 240 | 320 [0396| 77 202
22 | 30 | 2970 [180M | 95.1 | 954 | 952 | 90.5 | 885 | 83.0 | 388 | 980 [ 7.218| 300 | 180 | 330 [0723| 77 | 274
30 | 40 | 2975 | 200L | 955 | 953 | 947 | 92.0 | 91.0 | 87.0 | 51.9 | 950 | 9.827| 210 | 180 | 330 [1.414| 79 357
37 50 | 2980 | 200L | 958 | 954 | 94.8 | 92.0 | 89.5 | 835 | 63.8 | 960 [ 12.10| 230 160 | 330 |1.527 79 370
45 60 | 2975 [225M | 96.0 | 95.7 | 951 | 92.0 | 90.0 | 855 | 77.4 | 950 | 14.74| 220 130 | 330 |1.883 81 467
55 75 | 2975 [250M | 96.2 | 96.1 | 956 | 90.0 | 88.0 [ 83.0 | 96.5 | 930 [ 18.02]| 215 120 | 330 [ 2639 81 538
75 | 100 | 2975 | 2805 | 96.5 | 96.1 | 95.2 | 90.0 | 87.0 | 79.5 | 131 | 850 | 24.57| 140 | 120 | 330 [4.000| 82 820
90 | 125 | 2975 [280M | 96.6 | 963 | 95.6 | 905 | 88.0 | 81.0 | 156 | 820 [ 29.48| 140 | 120 | 300 [4.400| 82 | 890
110 | 150 | 2980 | 3155 | 96.8 | 96.6 | 95.9 | 90.0 | 88.0 | 825 | 192 | 900 | 35.97| 140 | 120 | 260 |[6.000| 86 | 1300
132 | 175 | 2980 | 315M | 96.9 | 96.8 | 96.2 | 91.0 | 89.5 | 850 | 227 | 900 | 43.17| 140 120 | 260 |7.200| 86 1460
160 | 215 | 2980 | 315L | 97.0 | 96.9 | 964 | 91.5 | 90.0 [ 86.0 | 274 | 900 [ 52.32| 150 125 | 260 | 8.000 86 1600
200 | 270 | 2980 | 315L | 97.2 | 97.1 | 96.6 | 91.5 | 90.0 | 86.0 | 342 | 950 | 65.40| 160 130 | 260 [9.600| 86 1750
250 | 335 | 2980 | 355M | 97.2 | 97.1 | 96.8 | 91.0 | 89.5 | 850 | 429 | 800 | 81.75| 130 115 | 230 |15.20 87 2000
315 | 420 | 2980 | 355L | 97.2 | 97.1 | 96.8 | 91.0 | 89.5 | 850 | 541 | 850 | 103.0| 150 130 | 250 |18.80| 87 2400

NOTE: 1.The above are typical values based on test according to GB/T 1032 method B, IEC 60034-2-1:2014
2. Tolerance according to GB 755, IEC 60034-1.
3. Breakdown & Locked rotor torques are show as average expected voltages.
4. Efficiency, power factor, speed and torque are the same for other voltages.
Current values vary inversely with voltage.
5. Noise :sound power level at no -load, dB(A), Tolerance + 3 dB(A)
6.Data subject to change without notice.

23



1513 Data Sheet 1513 Data Sheet T E co

HBEMEREM (Super High Efficiency Motor) 380V 50HZ B= 3 EH (Super High Efficiency Motor) 380V 50HZ
Model: TEV5 GB18613-2020 GB1( IE5) Model: TEV5 GB18613-2020 GB1(IE5)

6%

CURRENT " NOISE reror EFFICIENCY POV L CURRENT ORQUE
FULL Lockep FU BREAK ND FULL 3 2 FULL FULL Lockeo PULL BREAK
) ROTC A it LOAD LOAD LOAD LOAD LOAD LOAD RD UP  DowN
No-LOAD
dB(A) kg WFLT
1440 882 | 882 | 864 | 710 [ 615 495 960 85.7 832 | 630 405 820 | 0. 0031

11 [ 15 [ 1455 | 905 | 89.5 [ 89.8 [ 88.7 | 77.0 | 69.5 | 56.0 | 56.0 [ 930 [ 0.737] 300 | 250 | 350 [0.031] 57 | 410 11 | 15 ] 960 | oL [ 87.2 | 866 [ 846 | 630 | 525 395 | 304 | 810 [ 1.117] 280 | 240 | 340 [0.041| 53 | 450
15 | 2 [1455[ 9oL | 90.4 | 903 | 896 [ 770 [ 695 [ 565 | 565 | 910 [ 1.005] 300 | 250 [ 350 [0039| 57 [ 445 1.5 | 2 [ 965 | 100t | 88.4 | 88.4 [ 873 [ 68.0 [ 59.5 | 465 | 379 | 800 [ 1515] 245 | 165 | 300 [0070| 53 | 555
22 | 3 [ 1470 100 | 91.4 [ 91.0 [ 89.8 | 77.5 | 705 | 575 | 575 [ 910 [ 1.458] 300 | 250 | 350 [0.074] 60 | 575 22 | 3 | 985 [112m] 897 [ 892 | 87.7 | 66.0 | 585 [ 460 | 565 [ 800 | 2177 260 | 220 | 330 [0093[ 59 [ 750
3 | 4 [1470] 100 | 921 | 919 | 910 [ 775 | 71.0 [ 590 | 590 | 910 | 1.989] 300 | 250 [ 350 [0.089] 60 [ 630 3 | 4 [ 970 [1325| 906 | 907 | 898 [ 720 [ 635 [ 500 | 6.99 | 830 | 3.014[ 200 | 185 [ 305 [0166] 62 [ 960
4 |55 [1470 [112M | 928 | 922 | 90.8 | 78.5 | 71.0 | 58.0 | 580 | 920 | 2.652] 300 | 250 | 350 [0.155| 62 [ 90.0 4 | 55] 970 [132M | 91.4 [ 91.7 [ 913 | 720 | 640 | 510 | 9.24 | 890 [ 4019] 200 | 190 | 310 [0217| 62 | 108
55 | 7.5 [1470 | 1325 | 934 [ 93.1 [ 923 | 80.0 | 740 | 620 | 620 | 955 | 3.646] 300 | 250 | 350 [0.222| 65 | 111 55 | 75 | 975 [132M| 922 | 922 [ 914 | 730 | 645 | 505 | 124 | 890 [ 5.497] 280 | 245 | 360 [0280| 62 | 122
75 | 10 [1475 [132M | 940 | 935 [ 925 | 80.0 | 73.0 | 615 [ 615 | 980 [ 4955| 280 | 245 | 350 [0252| 65 | 127 75 | 10 | 975 [160M| 929 | 921 | 90.6 | 77.0 | 695 | 565 | 159 830 | 7.496| 280 | 260 [ 300 [1.401[ 62 [ 199
11 | 15 [ 1480 [ 160M | 946 | 949 | 946 | 820 | 795 | 70.0 | 70.0 | 870 | 7.243| 280 | 225 | 285 {0773 67 [ 191 11 | 15 | 985 [ 160L | 93.7 [ 935 | 928 | 77.5 | 705 | 57.5 [ 23.0 [ 830 | 1088 280 | 270 | 300 [1.592| 62 | 213
15 | 20 [ 1485 [ 160L | 95.1 | 95.0 | 94.2 | 820 | 77.0 | 66.0 | 66.0 | 890 | 9.843| 300 | 265 | 320 [0928| 67 [ 211 15 | 20 | 985 [ 180L | 943 [ 943 | 93.7 | 79.5 | 730 [ 60.0 | 304 [ 830 | 1484 200 | 225 [ 310 [2244| 66 | 282
185 | 25 | 1480 [180m| 953 [ 952 | 948 [ 85.0 | 80.5 [ 71.0 | 71.0 | 890 [ 12.18] 300 | 265 | 360 |1451| 69 | 261 185 | 25 | 990 | 200L | 946 | 947 [ 938 [ 81.0 | 750 [ 630 | 36.7 | 830 | 1821] 300 | 235 | 310 |3256] 69 | 362
22 | 30 | 1480 | 180L | 955 [ 955 | 951 [ 85.0 | 80.5 | 71.5 | 71.5 | 890 | 14.49] 325 | 265 | 360 |1.766 | 69 | 289 22 | 30 | 990 [ 200L | 949 | 948 | 941 [ 830 | 78.0 | 67.0 | 42.4 | 800 | 21.66] 290 [ 210 | 310 |3489| 69 | 374
30 | 40 | 1485 | 200L [ 95.9 | 95.8 | 953 | 85.0 | 81.0 [ 71.5 | 715 | 860 | 19.69| 280 | 215 [ 300 [2556| 72 | 389 30 | 40 | 990 [225M [ 953 [ 953 | 94.9 | 835 | 785 | 68.0 | 573 [ 800 | 29.53| 270 | 225 | 305 [s5.288| 69 | 458
37 | 50 [ 1485|2255 | 961 | 959 | 953 | 87.0 | 830 | 74.0 | 740 | 850 | 2428| 255 | 210 | 285 [4490| 73 | 472 37 | 50 | 985 [250M| 956 | 956 | 952 | 835 | 785 | 67.5 | 70.4 | 800 | 3661| 180 | 170 | 305 |7454| 71 | 525
45 | 60 | 1485 [225M| 963 | 963 | 96.0 | 87.0 | 835 | 750 | 750 | 850 | 2953| 290 | 235 | 320 |5214| 73 | 512 45 | 60 | 990 | 2805 | 958 | 956 | 949 | 832 | 78.0 | 67.5 | 858 | 800 | 44.29] 180 | 150 | 300 |1120| 74 | 860
55 | 75 | 1485 [250M| 965 | 963 | 958 | 87.0 | 825 | 735 | 735 | 850 | 36.09| 270 | 180 | 320 [6.651| 74 | 587 55 | 75 | 990 [280M | 96.0 [ 958 | 952 | 842 | 795 [ 70.0 | 103 [ 800 | 54.14| 180 | 150 | 300 [1360[ 74 | 940
75 | 100 | 1488 | 2805 | 96.7 | 965 | 96.0 | 86.5 | 82.0 [ 72.0 | 72.0 | 750 | 49.12| 160 | 140 | 280 [8.000| 77 | 880 75 | 100 | 992 | 3155 | 963 | 96.2 | 958 | 85.0 | 81.0 | 720 | 139 | 750 | 73.68| 140 | 120 | 260 |24.40| 77 | 1460
90 | 125 | 1488 [280M| 969 [ 96.7 | 962 [ 862 | 820 | 720 | 72.0 | 750 | 58.94| 160 | 140 | 280 |9200| 77 | 960 90 | 125 | 992 [315M| 965 | 963 [ 96.0 [ 85.0 | 81.5 | 725 | 167 | 750 [ 88.41[ 140 | 120 | 260 |28.80| 77 | 1200
110 | 150 | 1490 | 3155 | 97.0 | 96.9 [ 96.4 | 87.0 | 83.0 | 740 | 740 | 780 | 71.94] 180 | 150 [ 280 |17.60 | 82 | 1460 110 | 150 [ 990 | 315L | 96.6 | 96.5 [ 96.0 | 85.0 [ 80.0 | 71.0 | 204 | 780 [108.3[ 160 | 145 [ 260 |3320| 77 | 1650
132 [ 175 | 1490 | 315M| 97.1 | 97.0 | 966 | 87.5 | 838 | 748 | 74.8 | 780 | 86.33| 180 | 150 | 280 | 19.60 | 82 | 1650 132 | 175 | 990 | 315L | 968 | 967 [ 962 | 855 | 81.5 | 725 | 242 | 800 [ 129.9] 170 | 150 | 260 | 4160| 77 | 1730
160 | 215 | 1488 | 315L | 97.2 | 97.1 | 967 | 884 | 850 | 77.0 | 77.0 | 780 | 104.8] 200 | 170 | 280 | 2520 | 82 | 1820 160 | 215 | 992 |355M | 96.9 | 96.8 | 963 | 850 | 81.0 | 715 | 295 | 770 [ 157.2| 140 | 120 | 250 | 40.40| 81 | 1950
200 | 270 [ 1488 | 315L [ 97.4 | 97.3 | 97.0 | 87.8 | 840 | 750 | 750 | 800 | 131.0| 200 | 170 | 280 [27.20| 82 | 1950 200 | 270 | 992 [355M [ 97.0 | 97.0 | 965 | 850 | 81.5 | 725 | 369 [ 770 | 1965] 140 | 120 | 250 [47.60| 81 | 2150
250 | 335 [ 1490 [ 355M | 97.4 | 97.4 | 97.0 | 90.5 | 89.0 | 84.0 | 840 | 780 | 1635]| 150 | 130 | 260 [3560 | 82 | 2400 250 | 335 | 992 | 355L [ 97.0 | 97.0 | 96.7 | 86.0 | 830 | 750 | 455 | 740 | 2456| 140 | 120 | 250 [54.80 | 81 | 2400
315 | 420 [ 1490 | 355L | 97.4 | 97.4 | 97.0 | 90.5 | 89.0 | 83.0 | 83.0 | 780 | 206.0| 160 | 140 | 280 [4280| 82 | 2650

NOTE: 1. The above are typical values based on test according to GB/T 1032 method B, IEC 60034-2-1:2014

NOTE: 1.The above are typical values based on test according to GB/T 1032 method B, IEC 60034-2-1:2014 2. Tolerance according to GB 755, IEC 60034-1.

2.Tolerance according to GB 755, IEC 60034-1. 3. Breakdown & Locked rotor torques are show as average expected voltages.

3.Breakdown & Locked rotor torques are show as average expected voltages. 4. Efficiency, power factor, speed and torque are the same for other voltages.

4. Efficiency, power factor, speed and torque are the same for other voltages. Current values vary inversely with voltage.
Current values vary inversely with voltage. 5.Noise:sound power level at no - load, dB(A), Tolerance + 3 dB(A)
5. Noise : sound power level at no -load, dB(A), Tolerance + 3 dB(A) 6.Data subject to change without notice.
6.Data subject to change without notice.

24 25



4MEE Outline (Teva)
MY RZ AR

26

A B3 (IM1001)

27



4MEE Outline (TEv3)
MR RZRRTE

28

29



30

31



32

33



34

35



36

37



38

39



40

41



42

43



44

45



46

47



48

49



50

51



52

355LA

35518

53



54

55



56

57



58

59



60

61



62

63



64

65



66

67



68

69



70

71



AMEE] Outline (TEv4)
SMERZFRTE ZEH®: BI (M 1001)

s

Dimension in mm
FRAME

SIZE

— | 230 355MB | 610 | 150 | 750 | 10 | 633 | 408 | 184 560 330 | 330 | 860 | 48 | 130 | 254 | 355 45

SHAFT EXTENSIO

EF EG

355MA | 520 | 28 | 1834 [372| 230 | M7ax2 | 75 [ 140 [ 125 | 75 | 40 | 20 |67.5|705|M20| e€317C3 | 6317C3

355MB | 529 | 28 | 1555 [372| 230 | m7ax2 | 85 [170 |60 | 5 | 48 | 25 | 86 | 100 [ M24| e322c3 | 63223

Note: 1. Tolerance of Shaft End Diameter D: mé
2 Toleranca of Shaft Canter Height H, +0, -
3, Toleranca of Key Width F: he

4.T-Box Assy with two cable grand bodies.

72

2B Outline (TEva)
MY REERT

TECO

Z#EH: B3I (IM1001)

Cimensien in mm
Output (kW)

[

315 | — | — [ - | 355LA | €10 | 150 | 750 | 810 | 633 | 403 | 184 830 330|330 | 910 | 48 | 130 | 254 | 355 | 45

-~ | 315 | 250 | 200 | 355L8 | 610 | 150 | 750 | 810 | 633 | 408 [ 154 630 330 ) 330 | 970 | 48 | 130 | 254 | 355 | 45

SHAFT EXTE!

EF | EG

355La | 528 | 28 | 1ee4 [ 372|230 | mraxe | 75 [ 140(125| 75 | 40 | 20 [67.5| 795 | M20| e3rvca | e3r7ca

355LB | 529 28 | 1605 |s7z|230| mvaxe | 95 [170(160| 5 | 48 | 25 | 86 | 100 |mM24| e322C3 | e322C3

Note: 1 Tolerance of Shaft End Diameter D, m6
2 Tolerance of Shaft Center Height H. +0, -1
3. Tolerance of Key Width F; h8

4.T-Box Assy with two cable grand bodies.

73



74

75



76

77



78

79



80

81



82

83



84

85



86

87



88

89



90

91



92

93



94

95



96

97



4B Outline (Teva) 4ME B Outline (Teva) TE co

A Rz R~TH LEFH: V1 (M 3011) SME R ZEERTE wEAS: VL (M 3011)

Dimension in mm Dimension in mm
Qutput (kW)
480 - 250 — — | 355MA | 30 | 140 | 740 | 680 | BOD | 24 & |1026| 633 | 408 | 184 | 130 | 520 | 302 (1634 372 | 230
ool | = | = | 315t | 50 [ 140 [ 60 | ss0 | sen| 24 [ 6 [es2 |57 | aoe | 184 [ 130 | a7a | 284 | 167a] 372 | 200
- | 250 ;gg 1‘:; 355MB | 30 | 170 | 740 | 880 | BOO | 24 & |1026| B33 | 408 | 184 | 130 | 520 | 302 [ 1555| 372 | 230
= | ol e | e | 31518 | 30 | 170 | 600 [ 550 | eeo | 24 | 6 [eez[see [ <08 | 14 | 130 [ 474 | 284 ] 1704] a2 | 200
FRAME
FRAME 5 E E G hE POSITE 3
E DRIVE END 335MA Mrzxz el 140 | 125 TS5 | 0 20 | 675|795 M20| 6317C3 3178
315LA MB3X1.5 [ 140 | 1256 | 7.5 | 40 12 o8 69 | M20| 6316C3 73148 355MB MT2x2 95 170 | 160 -] 48 25 86 | 100 | M24| 6322C3 73228
315LB MB3X15 a0 170 | 180 5 40 22 71 85 | M20| 6320C3 73188 Note: 1. Tolerance of Shaft End Diameter D; m6
Note: 1. Tolerance of Shaft End Diameter D: mé& 2. Tolerance of Key Width F; hg
2 Tolerance of Key Width F: hd 3. Tolerance of N - js6
3. Tolerance of N:js6 4.T-Box Assy with two cable grand bodies.

4.T-Box Assy with two cable grand bodies.

98 99



100

TECO

Z#HN: B3 (IM1001)

FIG.2

Dimension in mm

Output (kW)
2P 4p
15 || 14 | @7 == 90S 140| 40 180|202 238 166 | 83 | 100| --- | 284 | 71 | 56 |90 | 10 189
22015/ 1.1] -] 9oL 140| 40 |180| 202| 238 |166| 83 [125]100|284| 71| 56 |90 | 10| 189
5 || 22| 15| == 2
100L 160| 40 |200| 219 248 166 | 83 | 140| --- |295| 51 | 63 {100 | 12 199
N N ()
4 | 4 [22| -] 112M 190| 45 |235| 238 256 166 | 83 | 140| --- | 342| 58 | 70 {112 | 13 207
SHAFT BEARI
EB EF GA DB DRIVEEND OPPOSITE
DRIVE END
80M | 10| 380 |160| 40 | M20X1.5| 19 |40 | 32 | 4 | 16| 6 [15.5/21.5 M6 | 6204ZZ | 6204ZZ
90S 10 465 160( 40 | M20X1.5| 24 |50 | 40 | 5 | 19| 8 | 20| 27 | M8| 6205ZZ | 6205ZZ
90L 10 465 160( 40 | M20X1.5| 24 |50 | 40 | 5 | 19| 8 | 20| 27 | M8 | 6205ZZ | 6205ZZ
100L 12 503 160( 50 | M25X1.5| 28 | 60 | 50 | 5 | 22 | 8 | 24| 31 |M10| 6206ZZ | 6206ZZ
112M 12 566 160( 50 | M25X1.5| 28 | 60 | 50 | 5 | 22 | 8 | 24| 31 |M10| 6306ZZ | 6306ZZ
Note:  1.Tolerance of shaft end diameter D: j6

2.Tolerance of shaft center high H: +0,-0.5.

3.T-Box Assy with a cable grand body.

101



Outline (Tevs)
SN RBERTE

Z%75: B3 (IM1001)

FIG.3 Dimension in mm

Output (W)

AA AB AC AD AG
4P 6P

57 263|273 |273 | 166

57 |263|273|273 132| 16| 224| 12 | 606

SHAFT EXTENSION BEARING

EBY EEN NEGH BEEN NG

DB DRIVEEND OPPOSITE

DRIVE END

1325 |160| 50 | M25X1.5| 38 | 80 | 70 | 5 | 28 | 10| 33| 41 [M12| 6308ZZ | 6306ZZ

132M |160| 50 | M25X1.5| 38 | 80 | 70| 5 | 28 | 10| 33 | 41 |[M12| 6308ZZ | 6306ZZ

Note:  1.Tolerance of shaft end diameter D: k6.
2.Tolerance of shaft center high H: +0,-0.5.

3. T-Box Assy with a cable grand body.

102

TECO

#%75: B3 (IM1001)

FIG.4 FIG.5 Dimension in mm
Output (kW)
AB AC AD AG AS B
2P 4P 6P
s 5 | 160M 254| 60 | 300|355 (3415|215 1075 210| - | 38 [286|408| 72 | 108|160| 18 |288|14.5
| o | . 4
185 15| 11| 7.5 | 160L 254| 60 | 300 355(3415| 215 [107.5) 254 | 210 | 38 | 286 408| 72 | 108| 160 18 | 28814.5
22 (185 - | --- | 180M 279| 65 | 330 400(3765| 215 [107.5) 241 | --- 174|174 424| 66 | 121| 180 20 | 313|145
5
—-|22]15 | 11| 180L 279| 65 | 330 400|3765| 215 [107.5) 279 | 241 174|174 424| 66 | 121/ 180| 20 | 313|145

EXTENSION BEARING

DRIVEEND OPPOSITE

DRIVE END
160M

773|199| 60 | M50X1.5| 42 |{110(100| 5 |36 | 12 | 37 | 45 [M16| 6309C3 | 6307C3
160L
180M

819]199| 70 | M50X1.5| 48 [110|100| 5 |36 | 14 [42.5/51.5|M16| 6311C3 | 6310C3
180L
Note: 1.Tolerance of shaft end diameter D: k6.

2.Tolerance of shaft center high H: +0,-0.5.

3.T-Box Assy with a cable grand body.

103



SMEZE] Outline (TEvs)
SN R 2Rt

#%75: B3 (IM10071)

FIG.6 FIG.7 Dimension in mm
Output (kW)
AB AC AD AG AS B BA BA BB BC
» 6P
30130 8] 15 | 200 318| 70 | 378 450 4085|249 [1245( 305 | - |165 [165[480| 71 | 133|200 | 24 | 336185
w37 || - | 225sC | ¢ [356] 75 |431| 500 4335|249 |1245| 286 | - [185 |185|475|4a5| 149225 | 28 | 361|185
45 | | | - | 225MA 356| 75 | 431/ 500 4335|249 [1245] 311 | 286 | 185 [185 | 475|445 149| 225 | 28 | 361|185
— [ a5 | 30|12 225mc 356 75 | 431 500 |4335| 249 1245|311 | 286 | 185 |185 | 475|445 149| 225 | 28 | 361|185
55 |- |- | __ | 250mMA 406| 85 | 480 (527.5|4035| 249 [1245| 349 | - 120 [120| 425|63.5| 168|250 30 | 328| 24
7
| 's5 |37 30 | 250MC 406| 85 | 480 527.5/4035| 249 1245|349 | - 120 120| 425|63.5| 168|250 30 | 328| 24
SHAFT EXTENSION BEARING

DRIVEEND OPPOSITE

DRIVE END

2000 |923|224| 80 | Me3x15 | 55 [110|100| 5 | 42 | 16 | 49 |59 |M20| 63123 | 6212C3

2255C | 962224 | 90 | M6315 | 60 140|125 | 7.5 | 42 |18 | 53 |64 |M20| cuoen | ooy

225MA |932|224| 90 | ME3x15 | 55 [110|100| 5 | 42 | 16 | 49 |59 |M20
6313C3 | 6213C3
225MC | 962|224 | 90 | ME3x15 | 60 140|125 | 7.5 | 42 | 18 | 53 |64 |M20
250MA 0775|224 | 105 | ME3X15 | 60 140|125 | 7.5 | 42 | 18 | 53 | 64 |M20| 6313C3 | 6313C3
250MC [o775( 224 | 105 | ME3X15 | 65 140|125 | 7.5 | 42 | 18 | 58 |69 |M20| 6315 | 6313

Note:  1.Tolerance of shaft end diameter D: m6.
2.Tolerance of shaft center high H: +0,-0.5.
3. Bearing No. In( ) is for 2P.

4.T-Box Assy with a cable grand body.

104

eIV

SME R RERST

Outline (Tevs) T E c o

Z#HN: B3 (IM1001)

Dimension in mm

Output (kW)
A AA AB AC
4P
75 | == | = | -~ | 280SA |457|110|560| 620 | 457 | 249 1245|368 | 125|125 | 446| 54 | 190|280 35 | 385| 24
--- | 75 | 45| --- | 280SB |457|110|560| 620 | 457 | 249 [1245|368 [ 125|125 | 446 | 54 | 190|280 35 | 385| 24
90 [ === | === | === | 280MA | 457|110 (560 | 620 | 457 | 249 [1245| 419 (125 (125|497 | 54 (190|280 | 35 | 385 24
---| 90| 55| --- | 280MB |457| 110|560 | 620 | 457 |249 |1245| 419|125 |125|497| 54 | 190|280 | 35 | 385| 24

SHAFT EXTENSION EARING

DRIVEEND OPPOSITE

DRIVE END

280SA 1042.5 224 140 | M63X15| 65 |140 (125 | 7.5 | 40 | 18 | 58 | 69 |M20| 6316C3 | 6314C3
280SB 1042.5 224 140 | M63X15| 75 |140 (125 | 7.5 | 40 | 20 | 67.5|79.5|M20| 6318C3 | 6316C3

280MA | 1092.5 224 140| M63X15| 65 |140(125|7.5| 40 | 18 | 58 | 69 [M20| 6316C3 | 6314C3

280MB | 10925 224 140| M63X15| 75 140|125 | 7.5 | 40 | 20 |67.5(79.5|M20| 6318C3 | 6316C3
Note: 1.Tolerance of Shaft End Diameter D: m6

2.Tolerance of Shaft Center Height H: +0, -1
3.Tolerance of Key Width F: h9

4.T-Box Assy with a cable grand body.

105



#%75: B3 (IM10071)

Dimension in mm

Output (W) ~ FRAME
2P 4P SIZE
110| --- | === | 315SA [508|115|615| 682 | 578 [408 [ 184 | 406 | --- | --- | 780| 68 |130 | 216|315/ 45 | 474
-~ [110| 75 | 315SB |508|115|615| 682 | 578 [408 | 184|406 | --- | --- | 780 | 68 130 | 216 315| 45 | 474
132| --- | === | 315MA [508|115|615| 682 | 578 [408 | 184|457 | --- | --- | 780| 68 |130 | 216|315/ 45 | 474
- [132| 90 | 315MB |508|115|615| 682 | 578 [408 184|457 | --- | --- | 780 | 68 130 | 216|315 45 | 474
o BEAR
RA o} B ) B A DB DR D OPPO
)
315SA | 28 [1436| 288 |180 | M63X15 | 65 |140 (125 |7.5 | 40 | 18 | 58 | 69 [M20| 6316C3 | 6314C3
315SB | 28 [1466| 288|180 | M63X15 | 80 170|160 | 5 | 40 | 22 | 71 | 85 |[M20| 6318C3 | 6316C3
315MA | 28 (1436|288 (180 | M63X15 | 65 (140 (125 | 7.5| 40 | 18 | 58 | 69 [M20| 6316C3 | 6314C3
315MB | 28 [1466| 288 [180 | M63X15 | 80 [170(160 | 5 | 40 | 22 | 71 | 85 [M20| 6318C3 | 6316C3
Note: 1.Tolerance of Shaft End Diameter D: m6
2.Tolerance of Shaft Center Height H: +0, -1
3.Tolerance of Key Width F: h9
4.T-Box Assy with two cable grand bodies.
106

eIV

SME R RERST

Output (kW)

Outline (Tevs)

TECO

Z#HN: B3 (IM1001)

FRAME

2P 4P 6P SIZE

315LA |508(115|615| 682 | 578 | 408

BB

PR

3

Dimension in mm

130 | 216 | 315| 45 | 474

160 | 110
200(132

315LB |508| 115|615 682 | 578 | 408

130 | 216 | 315| 45 | 474

XTEN BEARING

DRIVEEND OPPOSITE

DRIVE END
315LA | 28(1436|372|200 | M63X15 | 65 |140(125|7.5| 40 | 18 | 58 | 69 |[M20| 6316C3 | 6314C3
315LB | 28 [1466|372 (200 | M63X15 | 80 [170|160 | 5 | 40 |22 | 71 | 85 |[M20| 6320C3 | 6316C3
Note: 1.Tolerance of Shaft End Diameter D: mé

2.Tolerance of Shaft Center Height H: +0, -1
3.Tolerance of Key Width F: h9

4.T-Box Assy with two cable grand bodies.

107



SMZIE Outline (TEVS) SMEZIE Outline (TEVS) TEco

IMERRERTE AP B3 (IM 1001) SN R R A R~T ¥ B3 (IM1001)

Dimension in mm Dimension in mm
Output kW) ~ FRAME FRAME
BA BA BB BC BE C H A AA AB AC BA BA BB BC BE C H
2P 4P SIZE SIZE
330(910| 48
330(910| 48
SHAFT EXTENSION BEARING SHAFT EXTENSION BEARING
G GA DB DRIVEEND OPPOSITE G GA DB DRIVEEND OPPOSITE
DRIVE END| DRIVE END)|
355MA (529 28 [1525(372|230| M72X2 | 75 |140|125|7.5| 40 | 20 |67.5/79.5{M20| 6317C3 | 6317C3 355LA |529 | 28 [1575{372(230 | M72X2 | 75 140|125 |7.5 | 40 | 20 |67.5/79.5[M20| 6317C3 | 6317C3
355MB (529 28 [1555[372(230| M72X2 | 95 170|160 | 5 | 48 | 25 | 86 |100|M24| 6322C3 | 6322C3 355LB [529| 28 |1605/372|230| M72X2 | 95 170 160 | 5 | 48 | 25 | 86 | 100 |M24| 6322C3 | 6322C3
Note: 1.Tolerance of Shaft End Diameter D: mé Note: 1. Tolerance of Shaft End Diameter D: mé
2.Tolerance of Shaft Center Height H: +0, -1 2.Tolerance of Shaft Center Height H: +0, -1
3. Tolerance of Key Width F: h9 3. Tolerance of Key Width F: h9
4.T-Box Assy with two cable grand bodies. 4.T-Box Assy with two cable grand bodies.

108 109



4MIZE Outline (TEvs) SR Outline (Tevs) TECO

IMERRERTE AP BS (IM3001) MR R I R~T ¥ B5 (IM3001)

FIG.1 Dimension in mm FIG.2 Dimension in mm
Output (kW) FLANGE DIMENSION

2P 4P 6P

80M 12 | 40 (165130 |200| 12 | 3.5(177| 225 |166 |83 [176|1055| 380 4| 4 |22]-| 112m 15 | 60 |215/180|250(14.5| 4 |256| 256 |166| 83 |207|128| 566
55]55| | -
15]110075] | 905 | |12 |50|165/130|200) 12| 35/202] 238 166 83 |189] 127 465 75| || | 132 ) 16 | 80 265|230 (300|145 4 |273| 273 |166| 83 |224|120| 570
22 (15|11 | o90L 12 | 50 (165130 |200| 12 | 3.5|202| 238 |166| 83 [189 127|465
BEARING
SHAFT EXTENSION BEARING DRIVEEND ~ OPPOSITE
DRIVE END
EG G GA DRIVE END OPPOSITE
FRVE 112M |160| 50 | M25X15 | 28 [ 60 |50 [ 5 |22 | 8 | 24|31 |Mi0|  63062Z 630622
8oM | 160 40 | M20ox15 | 19 |40 |32 | 4 | 16 | 6 [155|215 Me| 620422 620477 1325 |160| 50 | M25x15 | 38 [ 80 |70 | 5 | 28 | 10 | 33| 41 |M12|  63087Z 630622
90s | 160| 40 | M2ox15 | 24 |50 |40 | 5 | 19| 8 | 20| 27| M8| 62052z 620527 132M |160| 50 | M25X15| 38 [ 80 |70 [ 5 |28 | 10 | 33 | 41 [M12|  6308ZZ 630622
90L | 160/ 40 | M20X15 | 24 |50 |40 | 5 |19 | 8 | 20 27| M8 | 62052Z 620522
1000 | 160] 50 | m2sxts | 28 |60 |50 | 5 | 22 | & | 24 | 31 |w10| 620622 20622 Note: 1. Tolerance of shaft end diameter D: y28: j6, y38:k6.
2.Tolerance of N: j6.
Note: 1.Tolerance of shaft end diameter D: j6. 3.T-Box Assy with a cable grand body.

2. Tolerance of N: j6.
3.T-Box Assy with a cable grand body.

110 11



SMEZE Outline (TEvs)
SN R 2 A R

L% BS (IM3001)

L o
iy
i
s
c
< '/=/
Lﬁ:ﬁ!
)
FIG.3 FIG.4 Dimension in mm
Output (kW) FRAME  FIG. FLANGE DIMENSION
2P 4P 6P 8P SIZE  NO. LA LE
1; 11175 5‘_15 160M 3 110 300| 250 [ 350 (18.5| 5 |355|341.5/215| 107.5 |288(180 (773
185( 15| 11|75 160L 110{300| 250 | 350(18.5| 5 [355|341.5(215| 1075 |288|180|773
16
22 - 180M 110 300| 250 [ 350 (18.5| 5 |400|376.5|215| 107.5 |313|187(819
4
=22 15|11 180L 110(300| 250 [ 350 18.5| 5 |400|376.5|215| 107.5 |313|187(819

BEARING

DRIVE END

160M [199| 60 | MSOX1.5 | 42 |110|100| 5 | 36 | 12 | 37 | 45 |M16

6309C3
160L |199| 60 | M50X15 | 42 |110(100| 5 | 36 | 12 | 37 | 45 |M16

OPPOSITE
DRIVE END

6307C3

180M [199| 70 | MSOX15 | 48 |110|100| 5 | 36 | 14 |42.5|51.5M16

6311C3
180L |199| 70 | M50X15 | 48 |110(100| 5 | 36 | 14 |42.5|51.5/M16

6310C3

Note: 1. Tolerance of shaft end diameter D:

~

6.
2. Tolerance of N: j6.

3.T-Box Assy with a cable grand body.

112

SMEZIE] Outline (TEvs)
SN B 22 Rt

TECO

L#7HN: BS (IM3001)

us

HOLES

FIG.5 FIG.6 Dimension in mm
Output (kW)
4P 6P 8P
2120 185115 | 2000 | 5 | 17 |110|350| 300|400 |18:5| 5 |450| 4085 | 249 |1245 |336 | 204 |23
|37 | - | - | 2255C 20 | 140| 400| 350 {450 18.5| 5 |500 | 4335 | 249 | 1245|361 1935|962
45 | | - |- | 225MA | 6 | 20 |110|400| 350 |450(18.5| 5 |500 (4335 | 249 |1245 |361 [1935(932
| 45 | 30 "85 225mcC 20 | 140| 400| 350 {450 18.5| 5 |500 | 4335 | 249 | 1245|361 1935|962
BEARING

DRIVE END OPPOSITE

DRIVE END

200L |224| 80 | M63X15 | 55 [110|100| 5 | 42 | 16 | 49 | 59 [M20|  6312C3 6212C3

2255C |224| 90 | M63X15 | 60 |140(125|7.5| 42 | 18 | 53 | 64 [M20| (6312C3) (6212C3)

225MA |224| 90 | Me3x15 | 55 [110|100| 5 | 42 |16 | 49 | 59|M20| 6313C3 6213C3

225MC [224| 90 | M63X15 | 60 [140|125|7.5| 42 | 18 | 53 | 64 [M20

Note: 1.Tolerance of shaft end diameter D: k6.
2. Tolerance of N: j6.
3.T-Box Assy with a cable grand body.

113



SMEZE Outline (TEvs)
SN R 2 A R

Dimension in mm

Output (kW) FRAME FLANGE DIMENSION

AC AD AG AS
SIZE

SHAFT EXTENSION BEARING

G GA DB DRIVEEND OPPOSITE
DRIVE END

250MA |224|105 | M63X15 | 60 |140(125|7.5| 42 | 18 | 53 | 64 |M20| 6313C3 | 6313C3

250MC (224|105 | M63X15 | 65 [140|125|7.5| 42 | 18 | 58 | 69 [M20 6315 6313

Note: 1.Tolerance of shaft end diameter D: mé.
2.Tolerance of N: j6.
3.T-Box Assy with a cable grand body.
114

M2

SME R RERST

L% BS (IM3001)

Outline (Tevs)

TECO

L#7HN: BS (IM3001)

Dimension in mm

Output (kW) FLANGE DIMENSION

AG AS HE

LA LE M

75 | --- | ---|--- | 280SA | 22 | 140|500 450|550(18.5| 5 |769 |482(318| 144 |384|269|1276
---| 75| 45| --- | 280SB 22 | 140|500| 450 | 550 |18.5| 5 |769|482|318| 144 |384|269 (1276
E || === || = 280MA | 22 | 140| 500| 450 | 550 (18.5 5 |769 |482(318| 144 |384 (2691276

---| 90| 55| --- | 280MB | 22 |140| 500| 450 [ 550 [18.5| 5 |769 482|318 144 |384|269|1276

280SA

BEARING

G GA DRIVEEND OPPOSITE
DRIVE END

288140 | M63X15 | 65 [140(125| 7.5 40 | 18 | 58 | 69 [M20| 6316C3 | 6314C3

280SB

288|140 | M63X15 | 75 [140 (125| 7.5 | 40 | 20 |67.5/79.5|M20| 6318C3 | 6316C3

280MA |288|140 | M63X1.5 | 65 [140(125| 7.5 40 | 18 | 58 | 69 |M20| 6316C3 | 6314C3

280MB

288|140 | M63X15 | 75 [140 (125| 7.5 | 40 | 20 |67.5/79.5/M20| 6318C3 | 6316C3

Note:

1.Tolerance of Shaft End Diameter D: m6

~

. Tolerance of Key Width F: h9
3. Tolerance of N:j6

4.T-Box Assy with a cable grand body.

115



¢V

Outline (Tevs) NS

Outline (TEvs) T E c o

#%75: B35 (IM2001) yhﬁé&ﬁ%ﬁd— L% B35 (IM2001)

SME R REERST

4—4s
HOLES

P

FIG.1 Dimension in mm FIG.2 Dimension in mm
Output (kW) FRAME  FIG. FLANGE DIMENSION Output (kW) FRAME
SIZE 6P SIZE
4|4 [22]-| 112m 15 | 60 | 215( 180{250(14.5| 4 |190| 45 |235|238| 256 |166|83 |140| ---|342| 58| 70
1511 [0.75] == | 90s 12 | 50 | 165] 130|200| 12 | 3.5|140| 40 [180|202| 238 |166| 83 |100| - |284| 71| 56 | 90 32 5503 || 1325 | 2 |16 | 80| 265|230(300(145| 4 |216| 57 |263]273| 273 | 16683 |140| - |290| 31| 89
f
2215 14| | 9oL 12 | 50 [165| 130|200 12 | 3.5(140| 40 [180|202| 238 |166| 83 |125| 100|284 71 | 56 | 90 ==|[78 545 | 132m 16 | 80 | 265] 230(300[14.5| 4 [216| 57 |263]273] 273 |166| 83 |178] 120]326] 31| 89
3 |22[15 X
3 BEARING

BEARING

DRIVEEND  OPPOSITE
DRIVE END

FRAME HA  HE [3 L L o us D E EB EF EG F G GA DB DRIVEEND  OPPOSITE

SIZE DRIVE END

112M  [112] 13 | 207| 12 | 566 160 [450 | M25X15 | 28 | 60 | 50 | 5 |22 | 8 | 24| 31 |[M10| 6306ZZ 630622
80M | 10| 176 [ 10| 380 |160| 40 | M20X15 | 19 |40 |32 | 4 | 16 | 6 |155|215| M6 | 620422 620472

1325 [132| 16| 224| 12 570 160 |50 | M25X15 | 38 |80 | 70 | 5 |28 |10 | 33 | 41 |M12| 630822 630622
905 [10| 189 [ 10| 465 |160| 40 | M20X15 | 24 |50 |40 | 5 |19 | 8 | 20|27 M8 | 620522 620522

132M (132 16 | 224| 12 |606 | 160 [50 | M25X15 | 38 (80 | 70 | 5 | 28 | 10 | 33 | 41 |M12| 63082 63062Z
9L | 10| 189 | 10| 465 |160|40 | M20X15| 24 |50 [40 | 5 |19 | 8 [ 20|27 |M8| 62052z 620522
100L [12] 199 | 12| 503 |160| 50 | M25X15 | 28 |60 | 50 | 5 [22 | 8 | 24| 31|Mi0| 620622 620622

Note: 1.Tolerance of shaft end diameter D: y28: j6, y38:k6.
Note: 1.Tolerance of shaft end diameter D: j6. 2.Tolerance of shaft center high H: +0,-0.5.

2.Tolerance of shaft center high H: +0,-0.5.

w

Tolerance of N: j6.

3.Tolerance of N: j6. 4.T-Box Assy with a cable grand body.

4.T-Box Assy with a cable grand body.

116 117



¢V

SME R REERST

Outline (TEvs) SMEE Outline (Tevs) TECO

#%75: B35 (IM2001) gl\ﬁéﬁﬁﬁﬁd L% B35 (IM2001)

FIG.3 FIG.4 Dimension in mm FIG.5 FIG.6 Dimension in mm
Output (kW) FLANGE DIMENSION Output (kW)
FRAME R I ERAME AA AB AC AD AG
2P 4P 6P . LE 2P g SIZE
30 18,5
T s | S| reom 110| 300| 250|350 [18.5| 5 |254| 60 | 300|355 [3415| 215| 107.5 |210| --- | 38 | 286|408 3730|515 | 2000 | 5 | 17|110|350| 300 (400|185 5 |318| 70 |378|450|4085| 249| 1245 |305| - |165 165|480 | 71
3
185(15 |11 (7.5 160L 110{ 300| 250|350 (185 5 |254| 60 |300 | 355 (3415 215| 107.5 |254|210 38 | 286|408 | 37 - | | 2258C 20 | 140 400| 350 | 450|185 5 |356| 75 |431|500[4335/249| 124.5 |286| --- | 185| 185|475 |44.5
16
22 85| — | — | 180m 110| 300| 250 | 350|185 5 | 279] 65 230|400 [3765| 215| 1075 | 241| — | 174| 174|424 45 | |- | - | 225MA | 6 | 20 | 110|400| 350 450 |18.5| 5 |356| 75 431|500 |4335| 249| 1245 |311| 286|185 185475 [44.5
4
— |22 [15 | 11| 1800 10| 300| 250 | 350185 5 |279| 65 |330| 400 [3765 215| 1075 |279] 241|174 174|424 | 4530 |77 225mC 20 | 140) 400] 350 450{18.5 5 |356| 75 |431]500(4335 249| 1245 |311] 286|185| 185)475 445

SION BEARING

XTEN: BEARING

SION

FRAME
SIZE

uB D E EB EF EG F G GA DB DRIVEEND  OPPOSITE
DRIVE END

n
=
=
>
T
=
o

FRAME

DRIVEEND OPP
DRIVE END

SITE

SIZE

200L (133|200 | 24 (336 (185|923 |224 | 80 | M63X15 | 55 [110(100| 5 |42 |16 | 49| 59 [M20|  6312C3 6212C3
160M | 72 | 108|160 | 18 [288 [14.5|773 (199 | 60 | M50X15 | 42 [110(100| 5 | 36 | 12 | 37 | 45 [M16
6309C3 | 6307C3 2255C (149|225 | 28 |361 185|962 |224 | 90 | M63X15 | 60 140 |125|7.5| 42 |18 | 53 | 64 |[M20|  (6312C3) (6212C3)
160L | 72 (108|160 | 18 (288 (145|773 199 | 60 | M50X1.5 | 42 [110(100| 5 | 36 | 12 | 37 | 45 |M16
225MA 149|225 | 28 (361185932 |224 | 90 | M63X15 | 55 [110(100| 5 |42 |16 | 49| 59 [M20|  6313C3 6213C3
180M | 66 | 121180 | 20 [313 (145|819 (199 | 70 | M50X15 | 48 [110[100| 5 | 36 | 14 |42.5|51.5/M16
6311C3 | 6310C3 225MC | 149 | 225 | 28 |361 (185|962 |224 | 90 | M63X1.5 | 60 [140 |125|7.5| 42 | 18 | 53 | 64 |M20
180L | 66 |121(180 | 20 (313 [14.5|819(199 | 70 | M50X15 | 48 [110[100| 5 | 36 | 14 |42.5/515|M16|

Note: 1.Tolerance of shaft end diameter D: k. Note: 1.Tolerance of shaft end diameter D: mé6.

2.Tolerance of shaft center high H: +0,-0.5. 2.Tolerance of shaft center high H: +0,-0.5.

3.Tolerance of N: 3.Tolerance of N: j6.

4.T-Box Assy with a cable grand body. 4. Bearing No. In( ) is for 2P.

5. T-Box Assy with a cable grand body.

118 119



5

SN

Output (kW)

2P 4p

Outline (Tevs)
REERT

L% B35 (IM2001)

FIG.7 Dimension in mm

FLANGE DIMENSION
A AA AB AC AD AG
6P 8P

FRAME
SIZE

BEARING

DB DRIVEEND  OPPOSITE
DRIVE END

6313C3

250MC

‘168‘250‘ 30 ‘325‘ 24 ‘9775‘224‘105 ‘ M63X1.5 ‘ 65 ‘140‘125‘ 75‘ 42 ‘ 18 ‘ SB‘ 69 ‘Mzo‘ 6315

Note:

120

1. Tolerance of shaft end diameter D: mé.
2.Tolerance of shaft center high H: +0,-0.5.
3.Tolerance of N: j6

4.T-Box Assy with a cable grand body.

¢V

SN

Outline (TEvs)
REERT

TECO

L% B35 (IM2001)

HE

t

@K HOLES

Dimension in mm

75 | == | == | - | 280SA | 22 140|500 450 550(|18.5| 5 [457 110|560 |620 | 457|249| 1245 |368|125| 125|446 | 54 | 190
-~ | 75 | 45| ---| 280SB | 22 |140|500| 450 550|185 5 |457|110|560|620| 457|249| 1245 |368|125| 125|446 | 54 | 190
90 | == | === | == | 280MA | 22 | 140500 450|550 18.5| 5 |457| 110|560 |620| 457|249| 1245 |419|125| 125|497 | 54 | 190
- 90| 55| - | 280MB | 25 | 140| 500| 450|550 |18.5| 5 [457|110|560 |620 | 457|249| 1245 |419|125| 125|497 | 54 | 190

SHAFT E SION

XTEN:

BEARING

G GA

DRIVEEND OPPOSITE

DRIVE END|

280SA |280| 35 | 385 | 24| 10425 |224 140 | M63X15 | 65 [140(125|7.5| 40 | 18 | 58| 69 |M20| 6316C3 | 6314C3
280SB [280| 35 | 385 | 24| 10425 |224 140 | ME3X15 | 75 |140[125| 7.5 | 40 | 20 |67.5[795|M20| €318C3 | 6316C3
280MA (280( 35 | 385 | 24| 10925 | 224 |140 | ME3X15 | 65 [140(125| 7.5| 40 | 18 | 58 | 69 |M20| 6316C3 | 6314C3
280MB (280( 35 | 385 | 24| 10925 | 224 140 | ME3X15 | 75 [140(125| 75| 40 | 20 |67.5795|M20| 6318C3 | 6316C3
Note: 1.Tolerance of Shaft End Diameter D: m6

2.Tolerance of Key Width F: h9

3.Tolerance of Shaft Center Height H: +0, -1
4.Tolerance of N:j6

5.T-Box Assy with a cable grand body.

121



5NEE Outline (Tevs) TECO

#%75: B35 (IM2001) ghﬁé&ﬁ%ﬁd— L% B35 (IM2001)

== £ ==
3 TS| [ENEN
o] 4o novrs El I
s ) Ty

Lo moces

Dimension in mm Dimension in mm

Output (kW) FLANGE DIMENSION Output (kW) FLANGE DIMENSION

110| ---| --- | 3155A | 25 140|600 550 [660| 24 | 6 |508| 115|615 682 578 408 | 184 | 406| ---| --- | 780| 68 | 130 140600 550 | 660

---|110| 75| 315SB | 25 | 170(600| 550 |660| 24 | 6 |508|115/615|682| 578 |408|184|406| --- | --- | 780| 68 |130 170{ 600 550 | 660

132 ---| === | 315MA | 25 140|600 550 660| 24 | 6 |508| 115|615 682 578 408|184 457 ---| --- | 780| 68 | 130 BEARING

---1132| 90 | 315MB | 25 |170(600| 550 |660| 24 | 6 |508|115(615|682| 578 |408|184|457| --- | --- | 780| 68 |130

G DRIVEEND OPPOSITE
DRIVE END

BEARING

DRIVEEND OPPOSITE 315LA 216|315 | 45 [474 | 28 1436 372|200 | M63X1.5 | 65 [140|125|7.5| 40 | 18 | 58 | 69 [M20| 6316C3 | 6314C3

DRIVEIEND 315LB (216|315 | 45 474 | 28 | 1466 [372 200 | ME3X15 | 80 (170 [160| 5 |40 | 22 | 71 | 85 [M20| 6320C3 | 6316C3

315SA (216 (315 | 45 |484 | 28 1436 | 372|180 | M63X1.5 | 65 140 |125|7.5| 40 | 18 | 58 | 69 [M20| 6316C3 6314C3

31558 |216|315 | 45 |484| 28 | 1466 |372|180 | M63x15 | 80 [170|160| 5 | 40 |22 | 71| 85 |M20| 63203 | 6316C3 Note: 1. Tolerance of Shaft End Diameter D: m6

315MA 216|315 | 45 (484 | 28 | 1436 |372|180 | M63X15 | 65 [140 (125|755 | 40 |18 | 58 | 69 |M20| 6316C3 | 6314C3 2 Tolerance of Key Width F: h9

315MB | 216|315 | 45 (484 | 28 | 1466 |372| 180 | M63X15 | 80 [170[160| 5 | 40 | 22 | 71 | 85 [M20| 63203 | 6316C3 3. Tolerance of Shaft Center Height H: +0, -1

4. Tolerance of N:js6
Note: 1.Tolerance of Shaft End Diameter D: m6 5.T-Box Assy with two cable grand bodies.
2.Tolerance of Key Width F: h9
3.Tolerance of Shaft Center Height H: +0, -1
4.Tolerance of N:js6

5.T-Box Assy with two cable grand bodies.

122 123



¢V

Outline (TEvs) T E c o

SRBERT
I\ F
st B35 (IM2001) IMERRERS 2y B35 (IM2001)
L o
| .
- o N
K B
T
N ) PRy
| 5 je=be wouss 0= n moves
Dimension in mm Dimension in mm
Output (kW) FLANGE DIMENSION Output (kW) FLANGE DIMENSION
[ 2P 4P 6P LE M N P s
140 | 740 680 | 800 140 740 680
170 740 680
SHAFT EXTENSION BEARING SHAFT EXTENSION BEARING
FRAME EF EG F G GA DB DRIVEEND OPPOSITE K EF EG F G GA DB DRIVEEND OPPOSITE
SIZE DRIVE END DRIVE END
355MA |254(355 | 45 [529| 28 | 1525 (372|230 M72x2 | 75 |140|125|75 | 40 | 20 |67.5|795|M20 6317C3 | 6317C3 355LA (254|355 | 45 (529 | 28 | 1575 [372|230| M72x2 | 75 [140(125(7.5| 40 | 20 [67.5/795|M20| 6317C3 | 6317C3
355MB [254 |355 | 45 [529| 28 | 1555 372230 | M72x2 | 95 [170(160| 5 | 48 |25 | 86 |100|M24| 6322C3 | 6322C3 355LB |254(355| 45 [529| 28 | 1605 (372|230 M72X2 | 95 |170|160| 5 | 48 | 25 | 86 | 100M24 6322C3 | 6322C3

Note: 1.Tolerance of Shaft End Diameter D: m6
Note: 1.Tolerance of Shaft End Diameter D: mé

2.Tolerance of Key Width F: h9

2.Tolerance of Key Width F: h9
3.Tolerance of Shaft Center Height H: +0, -1

3.Tolerance of Shaft Center Height H: +0, -1
4.Tolerance of N:js6

4.Tolerance of N:js6
5.T-Box Assy with two cable grand bodies.

5.T-Box Assy with two cable grand bodies.

124 125



#%HFN: V1 (IM3011)

uB
o)
T
‘:‘,_‘[ -
Sl
T
T
STer Bla] [
2 o |2
IR .J‘
[ipgn]
$N
¢P

FIG.1 Dimension in mm
Output (kW) FRAME  FIG. FLANGE DIMENSION
2» 4P 6P SIZE  NO. L
= 80M 12 | 40 |165]130(200| 12 | 3.5[177| 225 |166| 83 | 176 [1055| 380
1511 90s 12| 50 | 165|130 (200| 12 | 3.5|202| 238 |166| 83 | 189|127 | 465
221511 | | sor | ' [ 12|50 |165] 130]200] 12 | 35|202| 238 |v6e| 83 | 18127 | 465
S il A e LS 16 | 60 | 215|180 250 [14.5| 4 |219| 248 |166| 83 | 199|114 503

BEARING

DRIVE END OPPOSITE

DRIVE END
80M (160 | 40 [M20X15 | 19 |40 (32| 4 |16 | 6 |155/215| M6| 62042z 620427
90s  [160| 40 [M20x15 | 24 [50 |40 | 5 |19 | 8 | 20| 27| M8| 62052z 620522
90L [160| 40 [M20X15 | 24 (50 |40 | 5 |19 | 8 | 20| 27| M8| 62052z 620522
100L [ 160| 50 | M25x15 | 28 {60 | 50| 5 | 22 | 8 | 24| 31 |m10| 620622 620622
Note: 1.Tolerance of shaft end diameter D: j6.
2.Tolerance of N: j6.
3.T-Box Assy with a cable grand body.
126

¢V

SME R RERST

ZEHFN: V1 (IM30171)

4—¢s

FIG.2 Dimension in mm
Output (kW) FRAME  FIG. FLANGE DIMENSION
SIZE ). LE M P N
4 22| | 112m 15 | 60 | 215 180|250 (145 4 |238| 256 |166| 83 | 207|128 | 566
S2I>5] 3 || 132s | 2|16 80 |265|230|300|145| 4 |273| 273 |166| 83 | 224|120 | 570
T | 13em 16 | 80 | 265| 230 (300|145 4 |273| 273 |166| 83 | 224|120 | 606

BEARING

DRIVE END OPPOSITE

DRIVE END
112M 160 | 50 | M25X1.5 | 28 | 60 | 50 [ 5 |22 | 8 | 24 | 31 |M10 630622 6306ZZ
1328 160| 50 | M25X15 | 38 [ 80 [ 70 | 5 | 28 | 10 | 33 | 41 [M12] 630822 63062Z
132M [160 | 50 | M25X1.5 | 38 | 80 | 70 [ 5 |28 | 10 | 33 | 41 |M12 630822 6306ZZ

Note: 1.Tolerance of shaft end diameter D: $28: j6, y38:k6.
2.Tolerance of N: j6.

3.T-Box Assy with a cable grand body.

Outline (TEvs) T E c o

127



5NEE Outline (Tevs) TECO

#%HFN: V1 (IM3011) yhﬁé&ﬁ%ﬁd— ZEHFN: V1 (IM30171)

a

El

L
e
L

FIG.3 FIG.4 Dimension in mm FIG.5 FIG.6 Dimension in mm
Output (kW) FRAME  FIG. FLANGE DIMENSION Output (kW) FLANGE DIMENSION
2P 4P 6P SIZE NO. LA LE M 4P 6P
::15 11|75 5‘_‘5 160M 3 110 300| 250 [ 350 |18.5| 5 [355(341.5(215 | 107.5 288 (180 | 773 gg 30 13'25 15 200L 5 |17 [110|350| 300|400 [18.5| 5 |450 | 4085 | 249 | 124.5 336 | 204 | 923
185 15| 11|75 160L 110 300| 250 [ 350 |18.5| 5 [355(341.5/215 107.5 288 (180 | 773 - | 37| - | --- | 225SC 20 | 140(400| 350 (450 |18.5| 5 |500| 4335|249 | 1245 361(1935| 962
22 (18,5 --- | --- 180M N 110 300| 250 [ 350 |18.5| 5 [400 (3765215 | 107.5 313|187 | 819 45 | | |- | 225MA | 6 | 20 | 110|400 350 |450|18.5| 5 |500 (4335|249 | 1245 361(193.5| 932
22015 (11 180L 110{ 300| 250|350 |18.5| 5 |400 (3765|215 107.5 313|187 | 819 --- | 451 30 1325 225MC 20 | 140(400| 350 (450 |18.5| 5 |500| 4335|249 | 1245 361 [193.5] 962
A 0 BEAR BEARING
RA 0 B D B A DB DR D DRIVE END OPPOSITE
DR D DRIVE END
160M 199 | 60 | M50X1.5 | 42 110|100 5 | 36 | 12 | 37 | 45 |M16 6309C3 6307C3 200L |224| 80 | M63X15 | 55|110|100| 5 | 42 | 16 | 49 | 59 |M20 6312C3 6212C3
160L 199 | 60 | M50X1.5 | 42 [110(100| 5 | 36 | 12 | 37 | 45 [M16 2255C |224| 90 | M63X1.5 | 60 |140|125| 7.5| 42 | 18 | 53 | 64 [M20 (6312C3) (6212C3)
180M [199| 70 | M50X1.5 | 48 110|100 5 | 36 | 14 |42.5/51.5|M16 311c3 310C3 225MA |224| 90 | M63X1.5 | 55 |110(100| 5 | 42 | 16 | 49 | 59 |M20 6313C3 6213C3
180L |199| 70 | M50X1.5 | 48 [110(100| 5 | 36 | 14 |42.5/51.5/M16 225MC [224| 90 | M63X1.5 | 60 (140|125 7.5| 42 | 18 | 53 | 64 |M20

Note: 1.Tolerance of shaft end diameter D: k6.

~
o

Note: 1. Tolerance of shaft end diameter D:
) 2. Tolerance of N: j6.
2. Tolerance of N: j6.
) 3. T-Box Assy with a cable grand body.
3.T-Box Assy with a cable grand body.

128 129



HINF

SMERRERST

Outline (Tevs) SMEE Outline (Tevs) TECO

#%HFN: V1 (IM3011) ghﬁé&ﬁ%ﬁd— ZEHFN: V1 (IM30171)

FIG.1 Dimension in mm Dimension in mm
Output (kW) 1 FLANGE DIMENSION Output (kW) FLANGE DIMENSION
2P 4P ., LA LE M N 4P 6P
55 | --- | -- | --- | 250MA ; 22 |140|500| 450 [ 550 [18.5| 5 |738|4035|249| 1245 | 3282315 (9775 75 [ === | === |77 | 280SA | 22 [140|500| 450|550 |18.5| 5 |769|482| 318 | 144 | 385 | 269 (1276
-~ | 55|37 |30 | 250MC 22 140|500 450|550 |18.5| 5 |738 (4035|249 | 1245 | 32823159775 - | 75| 45| | 280SB | 22 |140|500| 450|550 |18.5| 5 |769|482| 318 | 144 | 385|269 |1276
A 0 BEAR 90 [ === | === | =" | 280MA | 22 140|500 450 | 550 |18.5| 5 [769|482| 318 | 144 | 385 | 269 (1276
RA a 3 5 2 N 5 OPPO - | 90| 55| | 280MB | 22 |140|500| 450|550 |18.5| 5 |769|482| 318 | 144 | 385|269 |1276

DR ) SION BEARING

250MA |224| 105 | M63X15 | 60 |140 |125| 75| 42 | 18 | 53 | 64 |M20| 6313C3 | 6313C3 DRIVEEND OPPOSITE
DRIVE END|

250MC |224 | 105 | M63X1.5 | 65 |140|125| 7.5 42 | 18 | 58 | 69 |M20| 6315 6313

280SA | 288 | 140 | M63X1.5 | 65 (140|125 7.5| 40 | 18 | 58 | 69 |M20| 6316C3 | 6314C3

Note: 1.Tolerance of shaft end diameter D: m6.
280SB | 288|140 | M63X15 | 75|140|125| 7.5| 40 | 20 | 67.5/79.5|M20| 6318C3 6316C3

2. Tolerance of N: j6.
280MA |288 140 | M63X1.5 | 65(140(125| 7.5| 40 | 18 | 58 | 69 |[M20| 6316C3 | 6314C3

3. T-Box Assy with a cable grand body.
280MB |28 140 | M63X15 | 75|140|125| 7.5 | 40 | 20 | 67.579.5|M20| 6318C3 | 6316C3

Note: 1.Tolerance of shaft end diameter D: mé6.
2.Tolerance of Key Width F: hg
3. Tolerance of N: j6.

4.T-Box Assy with a cable grand body.

130 131



5NEE Outline (Tevs) TECO

#%HFN: V1 (IM3011) yhﬁé&ﬁ%ﬁd— ZEHFN: V1 (IM30171)

a0
WE
B 1 f
S W) 2~UR -
2-UB - ool <] 3| )
A <8l Ll =N
m g o
Y \ R
Nap
2 Al
e} o Alm
2

Dimension in mm Dimension in mm

Output (kW)  FRAME Output (kW)

2P 4P SIZE 4P 6P

110| === | === | 315SA | 25 [ 140|600| 550 660 | 24 | 6 [682|578 | 408 | 184 | 130 | 474 | 284 |1674| 372 | 180

--- |110] 75| 315SB | 25 [170|600| 550 |660| 24 | 6 |682 578 | 408 | 184 | 130 | 474 | 284 {1704| 372 | 180

132| - | == | 315MA | 25 | 140|600| 550 |660| 24 | 6 |682|578 |408 | 184 | 130 | 474 | 284 |1674| 372 | 180 SHAFT EXTEN. BEARIN!

---|132] 90 | 315MB | 25 |170|600| 550 660 | 24 | 6 [682 |578 |408 | 184 | 130 | 474 | 284 (1704 | 372 | 180

EG DRIVEEND OPPOSITE
DRIVE END

BEARING

DRIVE END OPPOSITE 315LA |M63X15 | 65 [140(125| 7.5 40 | 18 | 58 | 69 |M20| 6316C3 | 7314B
DRIVE END

315LB | M63X15| 80 [170|160| 5 | 40 | 22 | 71 | 85 |M20| 6320C3 73168

315SA | M63X15| 65 (140 (125 7.5| 40 | 18 | 58 | 69 |[M20| 6316C3 | 7314B

Note: 1.Tolerance of shaft end diameter D: mé.
315SB M63X1.5| 80 (170|160 5 | 40 | 22 | 71 | 85 |M20| 6320C3 73168

~

Tolerance of Key Width F: h9
315MA | M63X1.5| 65 |140(125| 7.5| 40 | 18 | 58 | 69 [M20| 6316C3 73148

w

. Tolerance of N:js6
315MB | M63x15| 80 [170160| 5 | 40 | 22 | 71 |85 |M20| 6320C3 | 73168

4.T-Box Assy with two cable grand bodies.
Note: 1.Tolerance of shaft end diameter D: mé.

2.Tolerance of Key Width F: h9

3 Tolerance of N:js6

4.T-Box Assy with two cable grand bodies.

132 133



MR

Dimension in mm

Output (kW)
2P 4P
250 | ---| --- | 355MA | 30| 140 740|680 (800 | 24 | 6 [1026| 633 408| 184 | 130 |529 | 302 1525 372 | 230
--- 250 1288 355MB | 30 (170 740| 680|800 | 24 | 6 |1026| 633 |408| 184 | 130 | 529 | 302 |1555| 372 | 230
A o} BEAR
RA B ) B A DB DR D OPPO

355MA | M72X2 | 75 [140(125|7.5| 40 | 20 |67.5|79.5|M20 | 6317C3 73178

355MB | M72X2 | 95 |170|160| 5 | 48 | 25 | 86 | 100 |M24 | 6322C3 73228

Note: 1.Tolerance of shaft end diameter D: m6.
2.Tolerance of Key Width F: h9
3.Tolerance of N:js6

4.T-Box Assy with two cable grand bodies.

134

#%HFN: V1 (IM3011)

¢V

SME R RERST

Outline (Tevs)

Output (kW)

LA

FLANGE DIMENSION

LE

AC

TECO

ZEHFN: V1 (IM30171)

Dimension in mm

AD AG AS BE

XTEN:

BEARING

DRIVEEND OPPOSITE
DRIVE END

355LA | M72X2 | 75 |140[125|7.5| 40 | 20 [67.5/79.5|M20| 6317C3 73178
355LB | M72X2 | 95 [170|160| 5 | 48 | 25 | 86 | 100 |M24| 6322C3 7322B
Note: 1.Tolerance of shaft end diameter D: mé6.
2. Tolerance of Key Width F: h9
3. Tolerance of N:js6
4.T-Box Assy with two cable grand bodies.
C-flangeix ZR~%
oo 100 e 120 e
on 115 as 140 M
) 130 110 160 M
12 150 110 160 M
132 165 30 200 [

135



